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New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the
coming Term End Examination. To get the candidates acquainted with the new system,
assignment answer is to be given in the specified space according to the instructions.

Detail schedule for submission of assignment for the
PG Term End Examination June, 2020

1. Date of Publication :20/06/2020

2. Last date of Submission of answer script by the student to the study :19/07/2020
centre

3. Last date of Submission of marks by the examiner to the study centre : 16/08/2020

4. Date of evaluated answer scripts distribution by the study centre to

the students (Students are advised to check their assignment marks
on the evaluated answer scripts and marks lists in the study centre
notice board. If there is any mismatch / any other problems of marks
obtained and marks in the list, the students should report to their
study centre Co-ordinator on spot for correction. The study centre is
advised to send the corrected marks, if any, to the COE office within
five days. No changed / correction of assignment marks will be

accepted after the said five days.) :23/08/2020
S. Last date of submission of marks by the study centre to the
Department of C.O.E. on or before :31/08/2020
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( Symbols / Notations have their usual meanings. )
Answer Question No. 1 and any four from the rest.
1. Answer any five questions : 2x5=10

P
a) Use Laplace transform to solve I\lx— t o(t)dt= x5/2,x >0.

0
b) Show that the integral equation

1
¢(x)—J' (5x2 -3)t29(t)dt=0, 0<x <1,

0
has only trivial solution.
) Reduce the integral equation

X
¢(x)—j o(¢)dt=x, x>0
0
to an ordinary differential equation with appropriate initial condition.

pe
d) Use the method of successive approximations to solve ¢(x)+j- o(t)dt=1, x>0.

0
e) Show that y(x)=cos2x is a solution of the equation

T
y(x)=cosx+3‘[ k(x,t)y(t)dt, O<x<m
0

i <
where k(x,t)={smxcos’f, 0<x<t

cos xsint, t<x<mw

f) Obtain an integral equation corresponding to following initial value problem
2
d—g+y=cosx, 0<x<1, y(0)=y'(0)=yq-
dx

X
g) Find the first three iterated Kernels of ¢(x)= 1+J. ex_tq)(t)dt , 0<x<l1.
0
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Solve the following Fredholm integral equation for all values of the parameter A

1

b(x)=142[ (1-3xt)p(¢)dt, 0<x<1. 10
0

a)  Use the method of successive approximations to solve

X
u(x)=2—j-(x—t)u(t)dt, 0<x<l.

0
b)  Use Laplace transform technique to solve
X
J.‘/dﬂdt=f(x),x>0,f(0)=0. 10
x-—t
0

Reduce the following integral equation to a boundary value problem.

X 1
¢(x)—kjt(l—x)cl)(t)dt—kj-x(l—t)d)(t)dt:x,O<x<1.

0 X

Use Hilbert-Schmidt theorem to solve the above integral equation. 4+6
a) Convert the following intial value problem to an integral equation

ﬁ+xd—y+y=0, O<x<l1,

dx? dx

y(0)=1, y'(0)=0.
b) Derive an equivalent Fredholm integral equation for the following boundary value

problem :

ﬁ+y=x,y(0)=1,y(Tc]=Tc—1,O<x<7r. 5+5

dx?
a) Find the first and second iterated kernel of

n/2
o(x) =2 ‘[sin(x—t)cb(t)dt: flx), 0<x<Z.
0
b) Find the resolvent kernel for the integral equation
1
g(s)=f(s)+2 [(st+s??)g(t)dt, ~1<s<1. 5+5
-1
a) Show that the integral equation
2n
¢(x)—% [ sin(x+t)o(t)de= f(x), 0<x<2n
0

possesses no solution for f(x)= x but possesses infinite solution when f(x)=1.

b)  Find the boundary value problem that is equivalent to the integral equation

1
y(x)—?»j(1—|x—t|)y(t)dt=0,—1<x<1. 5+5
-1
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